2R E—AHIH RiER

28 E—AfIN A & K # = 28 E—AfI% B B # =
d—)ILEFE-LyEF-EODE d—J)ILEFE-LyEF-EODE
Sf4%E2H6H
IE 4 K £ OouT | IN |TOTAL|HDCP| NET IE 4 K e OouT | IN |TOTAL|HDCP| NET
B |l BAXKE | 38| 47| 8 [11.7|733| |B B| #F AKX 48 | 50 | 98 | 27 | 71
SER AREH— | 37| 44 | 81 | 6.3 | 747 |EEE % 1% 47 | 45 | 92 | 15.3| 76.7
3 | FEE= 37 | 44 | 81 | 45 | 765 |3 fi = N ] 50 | 49 | 99 [21.6]| 77.4
4 | BARET 43 | 36 | 79 | 1.8 | 772 |4 f& b & 52 | 52 [ 104 [ 26.1| 77.9
5 | MR BX 43 | 41 | 84 | 63 |77.7| |5 | XH BHF 47 | 52 | 99 [20.7| 78.3
B-G| fBA& ET 43 | 36 | 79 B-G B 18 47 | 45 | 92
28 E—HAPIF A B & X 28 S—HApI#%f B B £ F
IIL— T4 FDER IIL—--FKT4 FDER
IE 45 K £ OuUT | IN |TOTAL|HDCP| NET IE 4 K e OouUT | IN |TOTAL|HDCP| NET

BB g FiE 46 | 41 | 87 [ 99 | 771 |& M| XA BEKER | 47 | 46 | 93 | 18 | 75

#EE NHE RZ 42 | 44 | 86 | 81 | 779 | |%EmH S A 49 | 47 | 96 [17.1| 78.9

3| HIE= 42 | 44 | 86 | 81 |779]| |3 | {—K H#H 43 | 53 | 96 |17.1| 78.9

4 2| EEH —F 42 | 45 | 87 | 9 | 78 4 1| WHEBRE 48 | 58 | 106 | 27 | 79

5 | ZFA II|BH 43 | 45 | 88 | 9.9 | 78.1 5 | I Bth 48 | 47 | 95 [ 15.3] 79.7

B-G| /A& FH M| 44| 85 B-G| ZFEAKRBEBXKES | 47| 46 | 93
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